EER GNF) , HEdE 1R (GRH)

ImAo
M
H L
(lEIh’q')
E
(EEHEHE) s W
o
/ Al
7 (HEREIERR)
: (HEEE1ER) PN
' SUM22
. Bk
i
(BRI IHJI SE#&
y o RE
#I = D M D1 H L (@)
SA10 10 M 4X0.7 7 32 9 12
SA13 13 | M 5X0.8 8 40 10 25
SA16 16 M 6X1 10 50 13 45
SA20 20 M 8X125| 13 64 15 90
SA25 25 M10X1.5 16 80 18 175
SA32 32 | M12X1.75| 20 100 20 355
SA36 36 22 112 22 525
X
SA40 40 M1gX2 26 125 24 690
(HEAEIRRR)
] = J\E
# =1 D M D1 H L W )
RA16 16 M 6X1 10 53 13 8 45
RA20 20 M 8X125| 13 67 15 10 90
RA25 25 M10X1.5 16 85 18 13 170
RA32 32 M12X1.75| 20 107 20 17 360
RA36 36 M16X2 22 120 22 19 525




